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ENGLISH VERSION

Instruction:  Answer any 5 (five) questions.

10

Give the meaning of social institution, explain the its
characteristics.

Explain the family institution as a social institution.

Give the meaning of caste, explain the consequences of
casteism.

Give the meaning of casteism, explain the its solution.

Explain the sentence - Hindu marriage is a sacrament.

Give the meaning of divorce, explain the its consequences.

Give the meaning of family, explain the its characteristics.

Explain the maternal family.

Write short note.
(1) Nuclear family
(2) Joint family

Write short note.
(1) Functions of social institution
(2) Aims of hindu marriage.
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